
Thermostat

Earth screw

EarthNeutral

Phase 230 V

Connection box

S

BL

Element 		
750/2000 W

This kit contains:

Designation	 Quantity	 Item in 
		  fig.	
Bracket	 1	 1
Screw M10x25	 4	 2
Vibration damper	 4	 3
Engine heater	 1	 4
Flange nut	 4	 5
Seal ring	 1	 6
Hose union	 1	 7
Screw	 1	 8
Gasket	 1	 9
Nipple	 1	 10
Hose union	 1	 11
Hose 2,000 mm (78.74”)	 1	 12
Hose clamp B-27	 4	 13
Bracket	 1	 14
Screw M8	 1	 15
Clamp	 1	 16
Screw M8	 1	 17
Nut M8	 1	 18
Clamp	 2	 19
Screw M8	 2	 20
Installation instructions	 1	 -

HE/KC

1

2

3
4

5

8

7

6

9

11

10

12

12

13

13

14

13

13

15

17

18

19

16

19

20

20

RC

1

2

3
4

5

8

7

6

9

11 10

12

12

13

13

14

13

13

15

17

18

19

16

19
20

20

21161552  Engine heater kit 750W, for frame mounting, delivered loose




